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Question: 1

Two routers are physically connected to each other over Ethernet port 1/1/1.

|conf;q: port 17171
no shutdown
router interface tcoModez
addeess 10,1.5,1/24
porc 17171
router oIpt
area 0.0.0.0
incertace Trolodez”
nello-interval 1S
dead-interval £0

Hode 2

senfigs port 1/1/1
tio shutdown

router intecface colodel
addres== 10,.1.5.2/24
port 17141
touter ospf
area 0.0.0.0
interface "tollodel®

A.INIT

B. EXCHANGE

C. EXSTART

D. FULL

E. No OSPF neighbor

Answer: E

Question: 2

Which of the following debug statements can be used to troubleshoot if the OSPF adjacency is staying at
xstart state? Select two answers.

A. Debug router ospf rtm

B. Debug router ospf packet dbdescr
C. Debug router ospf neighbor

D. Debug router ospf packet hello

E. Debug router ospf spf

Answer: B, C

Question: 3
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Based on the following configuration, which of the following statements are true? Choose all that apply.

Mode 1

Nods-1

oonfigsroutarsonp iy
ares 0.0, 0.0
interface "co-Hod=-Z"
mecric S0
autkeneieat ion-kay "DoOpERE43 33mNEEE TR haahs
incerface "co-Noda=3"
mEtCie S0
ar=s 0.0,0,1
n==a
ariginace-default-touce
interface "co-Hode-47
seceic 50

Hode=1

configrrouter»oaply
afas 0.0,0.0
incerfmes "co-Noda=1"
authrncicanlon-key " Sh7T1S40PCeHS ErnS iaF uHARMO DI AGEZ ™ hash:

Bipd=-13

configrrouter-oapid
aresa 0.0.0.0
incerface "to-Wode-1"
nollo=incecval 15

Moo o

eonfigsranner-aapty
mEes 0.0.0.1
interface "to-Node-1"
metric 50

A. No OPSF adjacency found on Node 1

B. Full OSPF adjacency between Node-1 and Node-2
C. Full OSPF adjacency between Node-1 and Node-3
D. Full OSPF adjacency between Node-1 and Node-4
E. OSPF is enabled on Node 1

Answer: B, E

Question: 4

Two routers are physically connected to each other over Ethernet port 1/1/1. Review the configuration
information below. What state should the OSPF neighbor be in?
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canfig> port 17151
sLharnat
mtu 1514

=xit
no shutdown

router incerfare tolods:
mddress 10.31.5.1/24
POET 1AL L

Couter oapf
afea 0,0.0.0

intecface “tolode=2®
=t 1500

Fad= -2

configs port 1141
no shutdown
router incerface coNodel
wddlrean 10 1.5.2/24
paEt LSi01
couter oapi
arsa 3,0.0.0
intecfmsce "toNod=1"
=L 1500

A.INIT

B. EXCHANGE

C. EXSTART

D. FULL

E. No OSPF neighbor

Answer: D

Question: 5

Two routers are physically connected running ISIS. ISIS L2 adjacency is up and running but L1 adjacency is
not up. Review the configuration information shown below: Which of the following statement best
describe the cause of the problem? Select one answer only.
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Fod-1

| configsrauters

imis

incerface "CoPodzn

oXAL

i' #hov router 1#is Ancecface detail

1515 Intecfaces

| Intertace Level Capabilacy: L1LZ
| oper Stace Rdmin Stace p
| huth Type
& Petransmic Int. @ §
| Type 3 L3P Pacing Int. : 100
| Mesh Group : Imactive CHNP Inc, 10
| B2d Enabled Ho
Level 1 rdjacencies [
Tesg. IS Pl
huth Type Hong Matric 10
Hello Timer : 9 Hello Mulc, 3
Priocity 64 Pamaive i Ha
Level 2 Adsacencies 1
Deag. IS Fodl
Ruch Type Hong Merric 10
Hallo Tiser : 9 Hello Mulct, 3
| Priocicy 64 Pasaive : Na
Fod-2
configrrouters
isin

ey

intertace "roFodin

| ¥ show router 13is intecfsce detail

| 1515 Intecraces

| 1atertace

| tper Frsce
| kith Type

| cireuie Id
| Trpe

| Mean Group
| Bzd Enablea

Level
Dexg. IS
huth Typs
Hello Timec
Priocicy

Level
Dasg. 1=
Rith Typs
Hello Timer
Priocity

A. The ISIS interface level is not configured on both routers

B. The ISIS interface type should be configured as point-to-point interfaces
C. ISIS System IDs are not configured on both routers

D. ISIS Area addresses are not configured on both routers

E. ISIS level capacity are not configured on both routers

: toPodi

: Uy

+ Mone

i3

1 Srosdoast
1 Inaccive
: Mo

5
+ Podz
i Hone
g
r B4

= Podl
i Non=
i 9
"

Lavel Capability:
s Up

kdmin Frace

Petran=mit Ine. 3
LEP Pacing Inr. 1
C3NF It

hdjecancies
Merric
Hello Mulc,
Fasaive
Adjacencies
Netrie

Hells Mult.
Fazatve

Question: 6

Two routers are physically connected to each other with ISIS configured. No ISIS adjacency can be found
on both routers. Ping works fine on the local and the remote interface addresses on both routers. Review
the confguration information shown below. Which of the following statements best describe the cause of

the problem? Select one answer only.
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Answer: D
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Hoda=1

# ahaw rourter isis incertace

Interface Level CircIl oOper Stace  L3/LE Meccic
ta-Nada -3 L1 H o a0/

1313 Ttatus

Systam Id

Admin State

Ipwd Routing

Last Enablad

Level Capabiiiby
Authentication Check

Authentication Type &
hdjacenoy Check
L1 Autlk Type

Laat 3PF £ 33/34/2006 14247116

SPF Wit £ 310 sec [Nex] 1000 me (Initisl) 3000 pe {Sesond)
Export Policies t None

Ares Addresses & Hone

Node-2

Tn tace  L1/LE Hetris
tal 10/
Invectaces : 1

ISES Sratus

System Id 5 01001000, 1002

Admin State 1 llp

Ipvd Bouring 1 Enabled

tpve Bouing 7 Disabiled

Last Ensbled © 12/14/2006 08187141

Level Capabilicy 1 LiLd

Aucken n Check 1 Trus

Auchen ype 1 Nona

aayace: : Inose

Lr : none

Lz : nane

L1 sicatié: Enabled

Lt HELLO-Auc Enab led

Li PSF-A *: Enabled

L Vide B  Disablad

L% Hide Meccice 5 Disabled

Li LEPs s

L2 LEPs 23

Last SPF = 12F14/2006 10:00:35

ZBF Unir 310 sec (Max) 1000 m= |Inikisl] 1000 me (S=cond)
Export Bolicies : Hane

ires hddresses : None

A. The ISIS interface level configured does not match the ISIS level capability supported on the routers
B. The ISIS authentication check is enabled but there is no authentication type and password configured
C. ISIS Area addresses are not configured on both routers

D. L1 wide Metrics are disabled on the routers

E. ISIS Circuit id does not match on Node-1 and Node-2

Answer: C

Question: 7

L1 ISIS adjacency is up between two routers (Node-1 and Node-2) with MD5 authentication configured.
During a maintenance window, an operator was planning to change one of the ISIS hello authentication
key from admin to admin123. After removing the hello authentication key from Node-1 (no change on
Node-2 side), the ISIS adjacency stayed up. The operator decided to fall back to the original configuration
and called Alcatel for support. Which of the following
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sonfigrrautee>isiall info

area-id 43,0034

authentication-key "aiNidc.qlgVjic49¥rescPk"” hashi

authentication-type message-digest

lap-lifecime 65535

craffic-engineercing

intecface "to-Node2®
level-capability level-1
hello-authentication-key "aiNilJo.qlgiitd49@reserPk™ haghl
hello-auchenticatlon-type message-digesc
inCeEface-Type POLRT-TO-POLRC

Hode=-2
ponfigrrauter>isisfl 1nfo

area—-id 49,0034
authentication-key “ailjdc.qlqUic43¥retcPk" hashi
authentication-type mezsage-digeat
lap-lifetime &65535
traffic=-enginesring
interface "to-Hodsl®
level-capability level-1
hello-authencicaclon-key "aiNJjJt.glgWitd49WrescPE™ hashi
hello-auchencicAcion-type messaga-digesc
interface-Lype point-to-poinc

A. The ISIS hello authentication key was not configured properly in the first place, that's why removing
the authentication key does not impact the adjacency

B. The ISIS authentication key is the same as the hello authentication key, therefore removing hello
authentication key does not impact the adjacency

C. The system interface is missing from the ISIS configuration, therefore ISIS is not working properly even
before the change

D. ISIS hello authentication key is only used for hello packet exchange. It does not affect ISIS adjacency

E. ISIS hello authentication key is not used to bring up ISIS adjacency when traffic-engineering is enabled
on the routers

Answer: B

Question: 8

What are the typical RIP related issues found during troubleshooting?

A. Interface filters

B. Broadcast/Multicast mismatch

C. Area id not match with neighbor

D. Group name not match with neighbor
E. Hop count too high

Answer: A, B, E
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